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Quantity Total

of Labor  Output AVC | L
’ 2 ATC mc
1 100
2 250
5 350
4

5

400
425

7-4 Explain the sources of economies
of scale and diseconomies of scale

10. (Long-Run Costs) Suppose the firm has only three possible scales
of production as shown below:
a. Which scale of production is most efficient when Q = 657
b. Which scale of production is most efficient when Q = 757
c. Trace out the long-run average cost curve on the diagram.
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N 8-4 Describe a perfectly competitive
O |ATC, | firm’s short- 1
& i 7 | s short-run supply curve
: | | | 7. (The Short-Run Firm Supply Curve) Use the following dafa to
| : | | answer the questions below:
| | )
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0 40 6575 120 0 12 (?12
11. (Scale Economies) Identify sources of economies of scale and 3 $20
diseconomies of scale. 4 505
CHAPTER 8 5
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8-1 Describe the market structure 36
of perfect competition 8t 1355
1. (Market Structure) Define market structure. \What factors are ) Hed
considered in determining the market structure of a particular ia’ a. Calculate the marginal cost and average variable cost for each
industry? i level of production.
2. (Perfect Competition Characteristics) Describe the characteristics of 2 b. How much would the firm produce if it could Sell 1S product for
perfect competition. j $5? For $77? For $107
c. Explain your answers.

3. (Demand Unaer Perfect Competition) What type of demand curve
does a perfectly competitive firm face? Why?

8-2 Determine the perfectly competitive firm’s
proﬁt—maximizing output in the short run

4, (Short-Run Profit Maximization) A perfectly com hetitive firm has the

following fixed and variable COStS in the short run. The market price
tor the firm’s product is $150.

Profit/
Qutput FC Ve IC TR Loss
0 $100 $ .0 _
1 $100 $100 u e
2 $100 180 . > _
3 $100 $300 _
4 $100 $440
5 $100 36!
6 $100

8-3 Outline the conditions under
which a firm should produce in the
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a, Complate the table.
b. At what output rate d

l0ss’?
¢ What is the firm's marginal revenue at sach positive level of

oulput? Its average revenue?

d. What can you say about the relat
revenue and marginal cost for output rate
maximizing (or loss-minimizing) rate? For O
profit-maximizing (or loss-minimizing) rate?

oes the firm maximize profit of minimize

lonship between marginal
s below the profit-
utput rates above the

short run rather than shut down, even
though it incurs an economic loss

5. (Minimizing Loss In the Short Run) Explain the different options a
frm has for minimizing losses in the short ruri.

6. (Short-Run L0oss) SUppose a firm decides to shut
un. What is the resulting 10ss”

down in the short

d. Assuming that its fixed cost IS $3. calculate the firm's profit at
each of the production levels determined in part ().
8. (The Short-Run Firm Supply Curve) Each of the following Situ-
ations could exist for a perfectly competitive firm in the short
un. In each case, indicate whether the firm should produce

n the short run or shut down in the short run, or whetner ad-
ditional information is needed 10 determine what it should do in

the short run.
2 Total cost exceeds total revenue at all output levels.
h Variable cost exceeds fotal revenue at all output levels.

¢ Total revenue exceeds fixed cost at all output levels.
Marainal revenue exceeds marginal cost at the current output
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~ Price exceeds average fotal cost at al oufput levels.
nyeraae variable cost exceeds price at all output leves.
| cost exceeds price at all output levels.
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